12a1139 (K12a1139)

Linearized knot diagam

0), <]

N4 08 9 1012113 2 1 7 6 5

N, / Solving Sequence

6,11>7->12->5—->1->10>4—>2—>9—> 3 — 8> C2,C7
C6 Ci11 C5 Ci12 Cip C4 C1 C9 C3 Cg

A knot diagrarrﬂ
Ideals for irreducible component#ﬂ)f Xpar

I = (W +u® + - +3u+1)

* 1 irreducible components of dim¢ = 0, with total 50 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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L I* = (u® 4+ u* +.

(i) Arc colorings

0
ail = \u
1
—u?
u
u
u? 41
as = u?
ud +2u
a1: Ud+u
—u
w4 u
—ub —3ut+1
ay = u8+4u + 4u? —|—2u
—37u'3 — 60ul! —
a9 =
—ud —6u” — 11ud —6ud —u
ag = —u® —5u" — Tud — 2uB +u
u? 17t 4w 1
a3 = 26+16u24+ - 6ut 4+ u?
—u®® —28ut3 + - —dud —w
ag = u47—|—29u45—|—---—2u5—|—u
(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u*? + 4y*® + ...

-4+ 3u+1)

35u° + 8u” + 16u® + 4u? +u

ul? 4+ 11u17 + 48u15 + 107u!3 + 133u! + 95u° + 34u” + 2u® —ud +u

+ 20u + 10

)



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
‘@ u’? — 110* 4 — 971w+ 99
C2,C7,C8 WO -+ w1
3 uO ut? = 3u 1
Ca u?? —u*? 4 4 135u + 29
C5,Ce, C10 u50_u49+_.__3u+1
C11,C12
€9 u? — Tut 4 = 511u + 215




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing

c1 y™0 + 13y + - 4 182789y + 9801

C9,C7,C8 y50+45y49+--~+y+1
cs I PV |
Ca y*0 +9y™ + - — 5523y + 841

Cs, Cg, C10 y50+65y49++y+1

C11,C12

Co y?0 + 17y" + - 4 738629y + 46225




(vi) Complex Volumes and Cusp Shapes

Solutions to I} VvV—1(vol + /—1CS) Cusp shape
= —0.267263 + 0.9746531 —2.52565 — 3.292601 0
= —0.267263 — 0.9746531 —2.52565 + 3.292601 0

0.300039 + 0.9171721

3.68092 + 1.880181

3.28403 — 3.428481

0.300039 — 0.9171721

3.68092 — 1.880181

3.28403 + 3.428481

= 0.303413 + 0.9934891 —3.97531 + 7.016961 0
= 0.303413 — 0.9934891 —3.97531 — 7.016961 0
= —0.228796 + 1.0149107 —2.85501 — 3.569521 0
= —0.228796 — 1.0149101 —2.85501 4+ 3.569521 0
= 0.167253 + 1.0299601 —5.48280 + 0.264807 0
= 0.167253 — 1.0299601 —5.48280 — 0.264801 0
= —0.322805 + 0.9926071 1.41582 — 10.584101 0
= —0.322805 — 0.9926071 1.41582 + 10.584101 0
= —0.122951 + 1.0572101 —0.72813 + 3.073891 0
= —0.122951 — 1.0572101 —0.72813 — 3.073891 0

0.293582 + 0.6698451

5.06450 + 3.767431

4.59609 — 5.349561

0.293582 — 0.6698451

5.06450 — 3.767431

4.59609 + 5.349561

—0.165448 4 0.6665191

—0.48337 — 1.408001

0.29896 + 5.975251

—0.165448 — 0.6665191

—0.48337 + 1.408001

0.29896 — 5.975251

—0.376224 4 0.4896171

4.12836 + 4.506121

3.44574 — 0.898481

—0.376224 — 0.4896171

4.12836 — 4.506121

3.44574 + 0.898481

—0.543737 4 0.1975201

5.08510 — 7.636421

6.10437 + 7.498571

—0.543737 — 0.1975201

5.08510 + 7.636421

6.10437 — 7.498571

0.513985 + 0.2028781

—0.28571 + 4.228981

1.46755 — 7.801591

0.513985 — 0.2028781

—0.28571 — 4.228981

1.46755 + 7.801591

0.334706 + 0.4223691

—1.09545 — 1.330041

—1.86370 + 0.682841

0.334706 — 0.4223691

—1.09545 4 1.330041

—1.86370 — 0.682841

0.521502 + 0.0996321

6.77978 — 0.917331

9.49995 — 0.904551

0.521502 — 0.0996321

6.77978 + 0.917331

9.49995 + 0.904551

—0.420230 4 0.2812961

1.13900 — 1.364671

1.97434 + 4.929001

eI ||| ||| (g|e|g g2 |e2|g|g|g|”f|g|g|g|g|g|g|g |

—0.420230 — 0.2812961

1.13900 + 1.364671

1.97434 — 4.929001




Solutions to I}

V=1(vol + v=1CS)

Cusp shape

u = —0.448171 4 0.1538551

0.966748 — 0.8383511

5.97312 4 2.211741

u = —0.448171 — 0.1538551

0.966748 + 0.8383511

5.97312 — 2.211741

u= 0.02262 + 1.641501 —2.97025 4 4.572261 0
u = 0.02262 — 1.641501 —2.97025 — 4.572261 0
u = —0.01192 + 1.658071 —8.80943 — 1.803741 0
u = —0.01192 — 1.658071 —8.80943 4 1.803741 0
u= 0.07257 + 1.696851 —5.55279 + 3.306821 0
u= 0.07257 — 1.696851 —5.55279 — 3.306821 0
u = —0.06955 + 1.713801 —12.07900 — 4.640561 0
u = —0.06955 — 1.713801 —12.07900 +- 4.640561 0
u = —0.08449 + 1.716511 —8.1767 — 12.22161 0
u = —0.08449 — 1.716511 —8.1767 + 12.22161 0
u= 0.07899 + 1.71722] —13.5884 + 8.55441 0
u= 0.07899 — 1.71722] —13.5884 — 8.55441 0
u = —0.05785 + 1.722531 —12.61190 — 4.724631 0
u = —0.05785 — 1.722531 —12.61190 + 4.724631 0
u = 0.04441 + 1.724961 —15.3216 + 1.13741 0
u= 0.04441 — 1.724961 —15.3216 — 1.13741 0
u = —0.03365 + 1.728061 —10.67560 4+ 2.418501 0
u = —0.03365 — 1.728061 —10.67560 — 2.418501 0




II. u-Polynomials

Crossings u-Polynomials at each crossing
c1 w0 — 110" + - = 971w + 99

Ca,C7,C8 P —ut w1
C3 WO+ —3u+1
C4 u? —u* + o+ 135u+ 29

Cs, Cg, C10 u50—u49+--~—3u—|—1

€11, C12

Co w0 — 7u* + ... — 511w+ 215




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing

c1 y°0 + 13y% + - - + 182789y + 9801

ca,emes | YAy 4 byl
o Oyt byl
s y50 + 9y49 + -+ — 5523y + 841

€55 C65 C10 v+ 65y + by +1

C11,C12

Co y°0 + 17y + - - 4+ 738629y + 46225




